B % 3 B %

(Epk2 73 A3 1 HIRHE)

(G [)
BEE DM AE DM
# = * # 1 = & %
(7% & & E] 238,271,872 | ik & & 18] 55, 530, 727
(B & & 7] 3,423, 382 (B = & &] 5,690, 000
(AREEEE) 179, 142
= B B & 179, 742 REGHGEI4E 4,400, 000
RERBEFSI4E 1,290, 000
(EMEEEE) 858, 640
VI Loz T 858, 640 =L {0k &t 61,220, 727
(REZDHDERE) 2,385, 000
RELE 2,385, 000
mEEOR
[(#% £ & &] 180, 474, 527
(Bx2) 50, 000, 000
{(FIRRERE] 130, 474, 521
(Z DL FIEFIRE) 130, 474,527
REFRRRE 130, 474,527
(55 LHHIFIEE) 4,199, 411
MEEDOR & 180, 474, 527
BEDO®H &t 241,695,254 | &R -WEEDORE 241,695, 254




